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Here is a sack race with four girls. What is the order of their arrival ?
Coralie is arriving before Sandrine but after Irène
Juliette is the last one.
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At the police station there are four suspects.
Who is who ?
Achille is quite bald.
Frédéric hasn’t got glasses.
Julien isn’t number 3.
The last one is Léonard.
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Five children are sitting on a horse :
Denis, Gilbert, Olivier, Raymond and Vincent.
Where are they sitting ?
Vincent is between Raymond and Gilbert.
Denis is in front of Gilbert.
Olivier is behind Raymond.
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On a flea market, Tintin, Captain Haddock, Professor Calculus,
Snowy and the two Thompsons choose an object :
a painting, a sculpture, a book, a collection of stamps
and a Chinese lamp.
What does everyone choose ?
Professor Calculus hates painting and reading.
The two brothers like stamps.
It isn’t a man who likes sculpture.
Captain Haddock loves his ancestor’s portrait.


5) Who’s who ?

Alfred, Samuel and Loïc have got dark hair.
Felix, Robert and Samuel have got a jacket.
Loïc, Robert and Jules have got a hat.
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Find the names of the 6 women.
Line, Sylvie and Christine have got a dress.
Christine and Viviane are standing up.
Nora and Line are sitting on a rock.
The fifth woman is Glawdys.
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7) In a pencil box there are 7 pencils.
Where are they in the box ?
Colour the pencils in the box
The yellow pencil is in the middle.
The red pencil is the first on the left.
The green pencil is near the red pencil.
The orange pencil is the seventh pencil.
The yellow pencil is between the blue pencil and the pink pencil.
The purple pencil is between the orange pencil and the blue pencil.


8) Five glasses are on the table.
What juice is in each glass ? Colour the glasses.
The strawberry juice is between the orange juice and the pineapple juice.
The tomato juice is between the kiwi fruit juice and the orange juice.
The orange juice is between the strawberry juice and the tomato juice.
In the glass of the pineapple juice there is a twisted straw.
strawberry : pink   ;   orange : orange ( !!) ;  tomato : red. 
kiwi fruit : green   ;   pineapple : yellow.


9) On the way to school : who’s who ?
Five children, Arthur, Clive, Len, Oliver and Peter
are going to school. Look at them.
Arthur and Oliver have got straight hair.
Arthur has not got glasses. He is carrying the same bag as Clive, and he is wearing the same clothes as Len.
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